MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
CHALLENGE
Time: Score: y—
s —0.5 x 0.0115 = 5200 2 X 19.1 =
520 0.009 X (—456) = 2 —0.08 x (—0.0003) =
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10 x (—134) =

2 x 145 =

0.0002 x (—30.4) =
0x0.31 =

—0.002 x (—2.34) =
—0.1 x (—438) =

4 x (—0.009) =
0.009 x 494 =

8 x 0.16 =

—0.04 x 4.27 =
—10 x (—0.098) =
—0.0002 x (—25.7) =

—0.0001 x 240 =
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—2 x (—3.04) =
0.0008 x (—186) =
0.1 x (—46.7) =

—1 x (—=0.37) =
—0.006 x (—0.026) =
1.1 % (—0.31) =
0.0007 x 2.67 =

0 x 0.0258 =

0.008 x 0.229 =
—0.004 x (—49.6) =
—0.01 x 0.264 =
—0.0009 x 47.4 =

0.0002 x 0.42 =
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